0000 (12/090)
e JIIOOMO P113~P1410

5-3:00ugououoonogn

gubgboubooboubobouobobbouoboboobobooboboobo
gogodo a—ilDDDDDDDDDDDDDDDDDDDDDDDDDﬁ:(0,0,H)

000 Eleman — 0 f, Freeman — L OO0 00000000000000000O0

E(Ul = — Z Jijoio; — poH Z 0. (1)

J| < kT 000
J|< kTO00000O0000000000000000J=00000000000
00000000000 Zy=2M0000000000000

Zy = Pl e=frol — 9 cosh(BuoH), (2)
(s = Z )it = po tanh(BpoH), (3)
can [2 IUO\/l — {tanh(ﬂ,uoH)}? 1
= 0, 4
o5 m] Wici x N — (4)
— 8 can 2 _ :ug
X(B) = i e w3 = L )
000 x0 xx1/T (Curie’slaw) 00000000
1 H

F(B,H,N) = —ElogZN(ﬁ,H):—NTlog <2C0th IukOT ) (6)

— 9 _ MOH . N,UOH ,LL()H
S(B,H,N) = aF(ﬁ,H,N)—Nklog <2(:oth kT) T anh —— T (7)

F,SO0000z=pH/kTO0000000J=000000000000000 80 peH
00000000000000000000000000.00 NOOOOOOO000000
0000000000000000000000:000000000007,HOOOOO
D00HO H,00 H,0000000 (H, > H,)000000 T, — Ty = (Hy/H)Ty < Ty
0000000000 O0O000000 10mKOOOOOOOOO0O0O000
J£0000
000000000000000000000@MO0000000000000000
00000000

N/2 N/2 N/2

E(gi)g\le = —JZU%AU% — poH 2(0'2]'71 + 09;) = Z Eoyi 10 (8)
(i=1 j=1 =1
goooo0o0oooooooooooooJoooooooooooooooo
d [ (H)$%— J? J\
T) = —— ’ - h
) = o1 ( N KT (COS kT) ’ )
d 21153

X(B) = 8H< >Can |H—0= W (10)



0000 JO0O0O0O0O0OO0OO0OJ|>kT00000000000O00O000OOO0DOOO
00000000 O00ODOO0OO0C0O0()OD0O0C00O00000UO0DUOOo@UuOooooo
OoooooooooOooooOoobOOoO0moooooDooooD fOobDOOODOOO
gbooooi
Doooooooooogn

0000000000 SO000000(000D0)0000000 (3)0000
00 Brillouin OO B(z)DOD0OOO0OO; m(T,H) = uSBs(uSH/KT), Bs(z) = ((25 +
1)/25) coth((2S + 1)z/2S) — (1/2S) coth(x/2S). DODODD0O0 HOODOOOOOO
H>0000 B(z) # 00

[2S=1/20 1000000 Heisenberg 10000000 (0000O0)000000
Ey = (7J/2)sin(ka)(des Cloizeaux-Pearson 0 0 0 )00 0000000000000 0O0O
Doooooooboobuoobd pwH~2J00000000000000DOODO
O 00000 00b0do0bo0bd0T=0000000000 Bonner-Fisher O O[]

3l =(00)0 1000000000000000(00000)000000000
000000 B, (Haldane gap) 0000000000000 00000 poH ~ By O
gbobooooon

4O00m0Om+100000000000000000000O0O0O0O0OOOOOOO
gbbobuooobbooodgbbobooootd

o
2

- . = 1
- ]:; S=51(Gd") II
6,00 ,{ i % s . S.Eggertet al.
ok S=3 (Fe*) L1 = 0.5
5.00 i - o 046
-k f L-""’T— 4 0.4
gum [ AT | o
T w]:,[ f S=3 () 17 Tl E 025
Tz S0 T B , 0.2
! f[ f,»’“’# ~130K 7 0.15
200 « 200 K — 0.1
£l « 300 K 0.05
100 ~ 421 K = 0
- -7 0 020.40608 1 121416818 2
o0 Lot 1L noHJ
o 10 20 30 40 )
T paH/ TIT/K) Y
[1] [2]
K.Katsuraetal. r [3] Y.Narumi et al. I (4]
= — 34—
% 01 (Ha/Ni** ) :*;llsldmxloﬂemu/mol) s > experiment —
= - 00s b Z 2 — calculation (T=0K)
1.0 Wﬂ <
3 ks T/ P
= @ 590 =
< a Z 'SF a=025
E % f Jk, =442 K =
g 05| N D/ = 0.08 g
=2.34
; E 0.5 & T=13K
T=1.3K s f H// chain |
o 20 * 40 " 60 Do 10 20' ”340 40 50 ' ‘50 7‘0 “so
MAGNETIC FIELD (T) Magnetic Field (T)

0 1. 000000000000000R|0O000000O00COoOoOOOO



